
Restar de Ceros (F)Halle cada diferencia.
1000 10000 10000 100- 631 - 5694 - 2391 - 25

100 1000 10000 1000- 55 - 907 - 4654 - 532
1000 1000 10000 10000- 461 - 433 - 1003 - 7885

10000 1000 100 10000- 1493 - 652 - 28 - 6901
100 100 100 1000- 37 - 71 - 35 - 874
100 100 100 100- 24 - 23 - 28 - 72
100 100 100 10000- 29 - 35 - 74 - 1981
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Restar de Ceros (F) RespuestasHalle cada diferencia.
1000 10000 10000 100- 631 - 5694 - 2391 - 25369 4306 7609 75100 1000 10000 1000- 55 - 907 - 4654 - 53245 93 5346 4681000 1000 10000 10000- 461 - 433 - 1003 - 7885539 567 8997 211510000 1000 100 10000- 1493 - 652 - 28 - 69018507 348 72 3099100 100 100 1000- 37 - 71 - 35 - 87463 29 65 126100 100 100 100- 24 - 23 - 28 - 7276 77 72 28100 100 100 10000- 29 - 35 - 74 - 198171 65 26 8019
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